
Syorolcp ee) 

Ead tha oalar ppolu at Cdot. produc) o 
eadh of the kollowing veotors 

Solution 

Then 
b=(2,3) 

a. b = (-,3) . (2,9) 

Thon, 

-

Soluton 
let d = 37+ 2 

and 

Then 

2 

3x C) t 

i+5 K = (-J,) 

) (21314) and Cu213) 
Solution 

Let á= C213,1) 

C312) 

- C213), (!,-2,3) 



2. 

d) 94 2 and 3-24 S 
Solwion. 

Lot & 3742K (3O,2) 
b97- 274SR = (3 -21S) 

Then, 
d.B= C3,0,2). C3,-2, ) 

19 

Show thot the tollouoing pair o7 vectord are 
orhagonal Cperperdieula) 

a) (-9,4) & l8i6) 
Solotion 
Let d = (-8,4) 

a.h= (-3, 4).C8,6) 

Sne, a. b=o =0, So the veetore t 

ond B are perpendiolor to oach other. 
proved 



Soluion 

�B c2,3, 1)C6,-S, 24)5 

=-12-|St 27 
=-2727 

Sin ce a. b=0. So the vectors ï and 
porpondicUlar to each othor. 

) C-l, ,4) and (A44) 
Solui on 
let 

Now,SO 

-4-1|2 tl6 

Provcd 

Since d.B=0.o, Hho voctore a 
à ard B ore paendular to each 
othor 



oddon lao o vech 

AC-2,2) 

Or, Ab = (3+2,2-2) 
Or, A6 (312) - (2,2) 

O = (32) 

O be the ongn Join oA, OB and AB. 
Let AC92) 2 B(32) are the pont Let 

Solbion 

Joining Ci0).ard C.4): 
perpendicular Corthogora) to hg lne 

) Sho0 hat ino, ioiing points C-2,2) 2 82) 

or, A = oß-On 



Let ca0) and 
he ondin 

Tn 40D, 

Oc = C 0) 
OB - CL4) 

B= C0 4) 

Nou, 

DC) aro he pointa 
Joio 0c, oD and 

Sinee 

cD: 

Ro and ch 
0ach othor 

prouod 

H Ab. c= Cs,o) . (0, 4) 

Let 0 

DCI4) 

vector adition 

re parpondicular to 



b) Eind she vako o ' whon kollowing 
palr o vecore are parpendicolar Cotho�pnal) 
to odoh othor 

Soluion 
Let d C,2,0) 

hs8 2,1) 

Since d and b are porpendicular to eah 
ther, 

or, (2o). (-3,2,1) -0 
Or, 3) +2Y20x 0 

Or,3x = -4 

Solution 

-7+= (-4, o) 
Sinco d ond B aro perpendicular to 

each other, 

Or, (O,2,D) C2,0) 0ono 



) Ca -2, 1) and c,Z) 
Soluta 

Let d = (2,) 

Sin o d and b r povpondicuar to oach 
other 

or, (-2)1) C) 0 

2. 

or, Ca) =o 
22t0 

4.a) letd-co?3?)and b--2s4) 
Hnd anAle bedon ß and . 

Soluion 
Gùvon, 

7=02 43 ) = (213, -1) 

7-214R) C!,2, 4) 



Now 

d.BC2,3y-).(U,- 2,49) 

Then, 

1àl 



6) Hnd 4 cosino. ót angle bchween the voctos 

)d-ce,2, -1)_ and B C6,312) 
Soluion 
Gùven, 

d=CQ2,-) 
h=C6,312) 

hen 
= (Q2-). (613,2) 

Cos = 

Cos 
2) 

02 



SolbHon 
Gùvon 

b4-2 = (21-2) 

then, 

Co1 

-2-2= (1j-2, -2) 

d.B-,-2, -2) C22) 

8Y3 



5.I are throe rmutuall parpandicolar 
Unit vactos andae 9i-2 
B42-8-4? are tuoovectors then fnd 

ASo, ind he anale betwaen Lal BL 
tuoo octors. 

SoluHor 
Givenj 

b-2-37-4Re C2,-3, -4) 
hen, 

1B1= Jc2 4c-2)H4) 29 

a.b= (3-2 1). (2í3,4) 

.B 

Wo Know 
Cos 

then, 



9 D AC2, Bu4), BS, 4-), CC3,612) and 

D�I, 2,0) be any pondt, expraxi AB and 

CDin the tom o 4 uzE Also 

chavo that A porpendicar to cÐ. 

Solutio0 

Let AC,3,4), BtS, 4,-), CC9/6,2) and 

DC!2,0) aro the point Let o be the 

In A0AC 

addition 

rAC2,3,4) 

ets,41-) 

ctrbr2 

A i 



In A0D 

- li2,0) - (3,6, 2) 
= CJ-3, 2-by0-2) 

vectos1 

co C-2, -u-2) 

-47-2 

To show the ocors Ab ond c porçondicular 
to each other, e nod to sho 

Sr=(3,l,).(9, -4,-2) 

Llg 3x(-2) + y() -dxc-) 

= 0 RHS 
Honce Ab 
to each other. 

AB.chz0 

A and cÔ ore perçendicular 


